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Passage (Question number 1 to 5) :

Academics have long argued about what led to the uusually large brain of humans with its capacity for
language, abstrct thought and consciousness. Scientists have matched exceptionally wet periods and very dry
period in the East Africans Rift Valley to sudden spurts in the evolution of the homjinid ancestors of Homo sapiens,
which resulted in the evolution of the modern human brain.

The latest theory suggests it was triggered by the need to adapt to dramatic changes in the local environment
of early man. "It seems modern humans were born from climate change, as they had to deal with rapid switching
from famine to feast and back again which drove the appearance of new species with bigger brains and also pushed
them out of East Africa into Eurasia and South Africa," said Professor Mark Maslin of University College, London.

The Rift Valley is an extensive geological fault marked by mountains, lakes and fertile valleys. Many of the
most important fossil remains of early humans have been unearthed in the region, leading to suggestions that it was
the most important place for the early origins of man.

The study looked at climate changes over the past 5 million years. The scientists found that there were
relatively short periods lasting about 2,00,000 years when East Africa became very sensitive to the cyclical changes
in the Earth's orbit around the Sun - known as Milankovitch cycles - which lead to global scale changes to the
climate, such as ice ages.

"Due to these changes in orbit, the climate of East Africa seems to go, through extreme oscillations from
having huge deep freshwater lakes surrounded by rich, lush vegetation to extremely arid conditions, like today, of
sand dunes in the Rift Valley," Professor Maslin said "These chages resulted in the evolution of a new species with
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bigger brains and also forced early humans to disperse out of East Africa," he said.

The study found that there were three time periods in particular when this kind of climate change corresponded

to important stages in human evolution. The first occurred about 2.6 million years ago when the Rift Valley dwellers
were pushed into southern Africa and a new species called Homo habilis emerged. The second happened about 1.9
million years ago when an important species called Homo erectus emerged from Africa to colonise much of Asia,
while the third occured about 1 million years ago when Homo heidelbergensis emerged.

Professor Maslin said that the technique is not accurate enough to deal with the past 1,50,000 years, when

Homo sapiens first evolved, but that it nevertheless could explain the earlier evolutionary transition leading to
Homo erectus, which is the first large brained hominid with truly human like skeleton showing a distinctive adolescent
growth spurt.

1)

2

3)

4

Select the most logical comment with respect to the passage given.

1) Now there is no need for debating over comparatively large size of the human brain as scientific have
been able to delineate reasons for this phenomenon.

2) Now scientists have some reason for explaining phenomenon of large size of human brain on the basis
of climate change.

3) Scientific community now has all the reason for explaining phenomenon of comparatively large size of
brain on the basis of climate change.

4) Scientists are yet to have accurate technique necessary for finding reason for large size of human brain in
comparison with the size of their bodies.

Select the appropriate set of hominid species arranged from earliest to modern that are mentioned in the

above passage.

1) Homo sapiens, Homo habilis, Homo heidelbergensis, Homo erectus.

2) Homo sapiens, Homo habilis, Homo erectus, Homo heidelbergensis

3) Homo erectus, Homo heidelbergensis, Homo habilis, Homo sapiens.

4) Homo habilis, Homo erectus, Homo heidelbergensis, Homo sapiens

Select the major evidence that is provided by scientists for considering climate change as a reason for

triggering extraordinary growth of brain.

1) The climate of East Africa seems to go through extreme oscillations from having huge deep freshwater
lakes surrounded by rich, lush vegetation to extremely arid conditions, like today, of sand dunes triggering
growth of brain of hominids living during the period.

2) Using special technique scientific found that the earlier evolutionary transition led to Homo erectus, the
first large-brained hominid with truly human like skeleton showing a distinctive adolescent growth-
spurt.

3) Scientist were able to match exceptionally wet periods and very dry periods in the East African Rift Valley
to sudden spurts in the evolution of the hominid ancestors of modern man..

4) Modern humans were born from climate change, as they had to deal with rapid switching from famine to
feast - and back again - which drove the appearance of new species with bigger brains.

Select the option that logically describes interrelationship between a and b.

a) Milankovitch cycles made the Rift Valley climate go through extreme oscillations of wet and arid conditions
over a period of 2,00,000 years.

b) Hominid ancestors with large brain only could survive in the drastic climate changes and therefore they
emerged as new species.

1) ais the cause that influenced the effect b

2) aand b both are the effects of the same cause.

3) aand b are the independent efects related to the different phenomena

4) b is the cause that influenced the effect a

According to Professor Maslin, modern humans were born from climate change, as they had to deal with

rapid switching from famine to feast - and back again - which drove the appearance of new species with

bigger brains.

Select the observations (s) that support (s) Professor Maslin's statement.

a) All member of the existing human races have a large sized brain compared to their body size.

b) Many animal species like dinosaurs that have become extinct, had comparatively smaller brains.

1) Onlya 2) Only b 3) Bothaandb 4) Neither a nor b
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Passage (Question number 6 to 10) :

Itis a well-known fact that a few dozen people in history own a Nobel prize in economics. For achieving their
world changing results they all put in long work. Angus Deaton, this year's Nobel winner recounts a different story
with respect to his achievement as he gave importance to his luck. According to him, his father did not die in
Second World War as luckily he contracted TB. In the easy labour market after war, Deaton's father, a coal miner in
Scotland, got a job at a civil engineering firm. He encouraged young Deaton to read books by going against the
advice of the rest of his family. Reading books made him very conscious about the role that luck played in the lives
of people. He says, "If you re-ran the world, it would be shuffled in a very different way." He has blended this
outlook into his Nobel winning lifetime work. He writes, "Those of us who were lucky enoughly to be born in the
right countries have a moral obligation to reduce poverty and ill-health in the world."

Deaton's career is focused on understanding how people consume goods and services - a crucial step to
achieving social goals like improved health and well-being and poverty and inequality reduction. he aims to
understand why each person makes choices he or she does. With this focus Deaton has been particularly adept at
disentangling the cause of poverty and inequality from the consequences. For example, in India, he showed that
malnutrition was caused by a low income - rather than being a cause of low income, as some believed. He showed
that increasing people's income did lead to higher calories intake among the poor. To learn this, Deaton simply
looked at the behaviours of individuals who are poor. He did not use aggregate data that included people with
higher income and flatten out effect.

The Nobel Prize Committee wrote, "In the 1980s, development was mostly theoretical, where it was empirical,
it was based on aggregate data from national accounts. This has now changed. Development economics is a
flourishing empirical research field based upon the advanced analysis of data from individual households. Deaton's
research has been an important driving force in this transformation."

6) Choose the most practical true conclusion on the basis of the given statements :

For achieving their world changing results, all Nobel winners put in long work.

Angus Deaton, this year's Nobel winner recounts a different story with respect to his achievement as he

gave importance to his luck.

1) Deaton is the only Nobel winner who did not work for long to get world changing results.

2) Deaton won the Nobel Prize because of his luck only.

3) Luck helped Deaton to put in long work like all other Nobel winners.

4) Luckily the Nobel Prize Committee selected Deaton.

7 Choose the most appropriate reason from the given options for which Deaton considers himself lucky.

1) Deaton's father did not die in the Second World War.

2) Deaton's father had a regular income and thus he could encourage him to read books.

3) Deaton's father contracted TB and thus was not sent to the war front.

4) Deaton's father encouraged him to read books by going against the rest of his family.

8) Select the action (s) Angus Deaton that directly changed the world view of development economics:

a) Reading books and considering him lucky.

b) Analysing household data of poor people using advanced technique.

¢) Observing behaviour of poor individuals related to their choices.

d) Working for reduction of inequality and ill-health

1) Onlybanda 2) Only band c 3) Onlyc 4)Only band d
9 Choose the roles of Deaton's skill of disentangling causes from consequences in the context of social
problems.

a) Helped him to become conscious of the role of luck in people's lives.
b) He was able to understand reasons o the choices that poor people make.
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¢) He was able to establish the fact that low income results in malnutrition.
d) He was able to study interventions introduced for reducing malnutrition.

1) All except a 2)Only bandc 3) All exceptd 4)Only cand d
10)  Choose the work that Deaton did to fulfil his moral responsibility of reducing poverty and ill-health in the
world.

a) Focused on studying poor person's behavivour related to their choices.

b) Gave importance to studying how people's luck affected their choices in their life.

¢) Observed choices of individual households for establishing base for development economics.

d) Replaced practice of analysing aggreagate data with analysing individual data for studying problems.
1) All exceptd 2) All exceptc 3) All except b 4) Only b
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Passage (Questions number 11 to 15) :

In the history of aesthetics there also comes an age of emancipation when the recognition of beauty
in things great and small becomes easy, and when we see it more in the unassuming harmony of common objects
than in things starting in their singularity. So much so, that we have to go through the stages of reaction when
in the representation of beauty we try to avoid everything that is obviously pleasing and that has been crowned
by the sanction of convention. We are then tempted in defiance to exaggerate the commonness of commonplace
things, thereby making them aggressively uncommon. To restore harmony we create the discords which are
a feature of all reactions. We already see in the present age, the signs of this aesthetic reaction, which prove
that man has at last come to know that, it is only the narrowness of perception which sharply divides the field
of his aesthetic consciousness into ugliness and beauty. When he has the power to see things detached from
self-interest and from the insistent claims of the lust of the senses, and then alone can he have the true vision
of the beauty that is everywhere. Then only can he see that what in unpleasant to us is not necessarily unbeautiful,
but has its beauty in truth.

When we say that beauty is everywhere we do not mean that t he word ugliness should be abolished
from our language. To say so would be as absurd as to say that there is no such thing as untruth. Untruth
there certainly is, not in the system of the universe, but in our power of comprehension, as its negative element.
In the same manner there is ugliness in the distorted expression of beauty in our life and in our art which comes
from our imperfect realization of Truth. To a certain extent we can set our life against the law of truth which
is in us and which is in all, and likewise we can give rise to ugliness by going counter to the eternal law of
harmony which is everywhere.

11)  Select te most likely purpose of this passage.

1) Differentiate between beauty and ugliness 2) Explain qualities of the beautiful things

3) Express personal views about beauty 4) Describe effects of incomplete comprehension
12)  Select an action that is not resulted from aesthetic consciousness gain due to person's narrow perceptions.

1) A vegearian person makes derogatory remarks about a non-vegetarian person.

2) A person does not care to keep his or her environment clean.

3) A school principal refuses to admit a child from a low income family.

4) A person respects every other person unconditionally.

13)  Select the behaviour that indicate concerned person's aesthetic sense has either attained or is in the process
of ataining emancipation.

a) Person incorporates various aspects that are obviously pleasing to all in his or her expression of beauty.

b) Person doesn't get carried away by representations that are praised as beautiful due to sanction of

convention.
¢) Person makes every effort to enhance his or her power of comprehension for seeing things without
distortion.
1) All but a 2) All but b 3) All but ¢ 4) All the above
14)  Select the reason(s) for calling the act of abolishing the word ugliness as absurd by the writer of this
passage.

a) Things appear ugly to us as a result of imperfect understanding of reality.
b) The filthy places are definitely ugly for everyone.
c) things represent ugliness to us till we fail to se unassuming harmony among them.
1) Only a and c 2) Only a and b 3) Only b 4) All the above

15)  Select the statement(s) that confirm(s) the comment, "For writer of this passage, beauty depends on the
state of person's mind and not on the outward features of things that appear to please him or her."
a) We give rise to ugliness by going counter to the eternal law of harmony which is everywhere.
b) Narrowness of perception sharply divides the field of person's aesthetic consciousness into ugliness

and beauty.
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¢) Person's power to see things detached from self-interest and from the insistent claims of the lust of
the senses, allows him or her to see beauty that is everywhere.
1) All the above 2) Only a 3) Only b 4) Only c
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Passage (Question number 16 to 20) :

The Dodo is dead. The passenger pigeon has passed on. But Lonesome George, the iconic Galapagos
tortoise whose death marked the end of his species, is in post-mortem luck.

A scientific expedition has discovered some of his close blood relations alive and well With careful breeding,
biologists now hope to revive George's species.

Originally there were at least eight species of Galapagos tortoise, scientists now believe. At least three
species are now extinct, including tortoises on Pinta Island. The last one, George, was discovered wandering
alone in 1972 and taken into loving custody. His death, in 2012 at more than 100 years old, was a powerful
reminder of the havoc unleashed by humans on delicate ecosystems worldwide over the last two centuries.
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But, now the story of extinct Galapagos tortoise has taken a hopeful twist.

More than a century ago, it turns out, sailors dumped saddlebacked tortoises they did not need into
Banks Bay, near Wolf Volcano on Isabela Island. Luckily, tortoises can extend their necks above water and float
on their backs. Many of them made it to shore, lumbered across the lava fields and interbred with Isabela's
native domed tortoises.

In 2008, scientists tagged and collected blood samples from more than 1,600 tortoises living on the flanks
of the volcano. Back in the laboratory, there was a genetic eureka : Eighty-nine of the animals were part Floreana
- whose full genetic Profile DNA had been obtained from museum samples.

Some had genes indicating their parents were living purebred Floreana tortoises, hinting that the species
may not be extinct.

Seventeen tortoises were shown to have high level of Pinta DNA Tortoises can live for more than 150
years, so some of them may well be George's immediate next of kin.

Last month, scientists went back to find them, Their plan was to capture and separate tortoises with high
levels of Pinta and Floreana DNA, and then breed animals that are genetically closest to the original species.
In a few generations, it should be possible to obtain tortoises with 95 percent of their "lost" ancestral genes,

the scientists said.

16)  The scientific genetic project started because of the death of

1) Dodo 2) Passenger Pigeon  3) Floreana Galapagos 4) Pinta Galapagos
17)  As per the passage, which are the extinct animal species ?
a) Dodo b) Passenger pigeon c¢) Pinta Galapagos d) Floreana Galapagos
1) Only a 2) Only aand b 3)Only a,bandc 4) Only d
18)  The native species of tortoise was different from migrated species in having
1) Long neck 2) Short neck 3) Saddled back 4) Domed back
19)  Tortoises perished because of
1) Hot lava of the Wolf Volcano 2) Dumping into the waters by the sailors
3) Man's interventions 4) Non-breeding
20)  George had high levels of genes of
1) Pinta 2) Floreana 3) Isabel 4) Volcano
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Passage (Questions number 21 to 25) :

Photochemistry concerns with the study of the effect of radiant energy on chemical reactions, and with
the rates and mechanism by which reactions initiated by light proceed.

Ordinary or thermal reactions are initiated by activation brought through molecular collisions. It is
characteristic of all such reactions that they can occur spontaneously when the reactions are accompanied by
a free energy decrease. However, photochemical reactions need not always accompany with decrease in the
free energy. For a photochemical reaction to occur, reacting molecules can absorb radiations of only certain
wavelength and not all, in the uv-visible region. In nature, many photochemical reactions e.g. fading of coloured
fabric in sunlight, photosynthesis, etc. take place. In fact, with absorption of a sufficient large quantum of radiant
energy a molecule may be ruptured. Such absorption of light by an atom or molecule leads to its excitation;
and if the activation is sufficiently great, chemical reaction may result. It is in this manner that absorbed light
can affect the rate of a chemical reaction and frequently bring about chemical changes under condition where
thermal activation alone would not be effective.

The rate of thermal uncatalyzed reactions at any fixed concentration can be varied only by change of
temperature. With photochemical reactions, however, the rate can be controlled also by varying the intensity
of the light used for irradiation. In the latter reactions, the number of molecules activated depends on the intensity
of the light, and hence the concentration of activated molecules will be proportional to the light intensity to
which the reactant is exposed. With sufficiently intense light sources, it is thus possible to attain reaction rates
at ordinary temperature, which would not result thermally except at considerably elevated temperature. Again,
since photochemical activation does not depend to any degree on temperature, the rate of activation is usually
temperature -independent . Any increase, which follow the activation process.

21) A photochemical reaction takes places by absorption of

1) visible and ultraviolet radiation 2) heat energy

3) infrared radiation 4) magnetic energy
22)  Which of the following statement (s) is/are correct?

a) Thermal reactions are temperature dependent.

b) Rate of photochemical reactions can be controlled by any light used as radiation.

¢) The number of activated molecules is proportional to the intensity of the light used as radiation.

1) Onlya 2) Onlyaandc 3) Only b and ¢ 4) All of the above
23)  The energy of activation depends upon ......... in photochemical reaction.
1) heat 2) molecular collision ~ 3) concentration 4) intensity of light
24)  In nature, .......... is an example of photochemical reaction.
1) formation of sodium chloride in sea-water. 2) conversion of hydrogen and oxygen into water.
3) conversion of atmospheric oxygen into ozone. 4) formation of acid rain
25)  Certain photochemical reaction involves ............ of the free energy.
1) decrease 2) increase 3) utilization 4) variation
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Passage (Question number 26 to 30):

Secularism is not about good and bad people, but about an unflinching law that won't brook public
demonstrations of intolerance. Secularism is just to make sure that ordinary people can lead ordinary lives without
fearing what tomorrow might bring. When the law is on your side you don't need eyes in the back of your
head.

It is the law, not irreligiousness, or shutting up the church, that makes us secular. In fact, Henry VIII
was hardly secular because he flouted the Pope, divorced and re-married. If the Vatican did not approve of his
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behaviour, it could go fly a kite. From this historical act a rather simplistic idea grew that secularism was about
separating church from state.

Religious persecution continued in Europe, not because the church said smell, go, hunt and kill, but because
it was now the king who issued such diktats. The unquestionable authority of the priests was now replaced
by that of the king.

It is only with democracy that secularism truly appeared. This is not because we suddenly became good,
and traded in our cruel hearts for loving ones. What made the real difference was that there were now legal
penalties for communal and religious violence

Secularism become a habit when the law works systematically, and without exception, against sectarian
intolerance. It is this legal intolerance of intolerance that teaches us to be civil and not moral science in a classroom,
nor sweet and inconstant political taik. Though it might still hurt to tolerate and make room for other communities,
it would hurt a lot more to break the law.

Across time, intolerance is spurred by social and economic insecurity. When jobs are scarce, when one's
self-esteem has got a hiding, we start blaming other communities and see all kinds of evil in them. How is this
best combated, with words or with deed ? Recall post-partition's hot and heady mood, and yet how Nehru
succeeded in keeping religious passions from taking over just born democracy. He succeeded in large measure,
because he promised jibs, dams and steel mills. He hardly taiked of pure tolerance, or even secularism; he just
did it.

If secularism and pseudo-secularism are bandied about freely, and abusively, today it is because partisans
on both sides are clueless on how to develop our economy. This is bipartisanship for you, Indian style !
26)  The author argues that

1) Henry VIII was a secular king 2) Henry VIII was pretending to be a secular king

3) Henry VIII defied the authority of the Vatican church. 4) Vatican church dominated Henry VIII.
27)  Which of the following two statements is/are correct?

a) Henry VIII was against Christianity

b) Secularism is related only to the ordinary people so that they can lead ordinary lives.

1) Onlya 2) Only b 3)Bothaand b 4) Neither anor b
28)  According to the author, there was religious prosecution in Europe
a) during the rule of the church b) during the regime of Henry VIIL

c) after the establishment of the democratic system
d) during all the three regimes mentioned in options a,b and c.
1) Only a 2) Only d 3) Only a and b 4) None of the above
29) According to the author, secularism means.
1) separating church from the state
2) tolerant attitude of the majority community towards minorities.
3) stopping religious persecution 4) None of the above
30)  Which of the following two statements is/are correct?
a) Since no party knows how to develop our economy both the parties are insecure.
b) Nehru instead of practising secularism during the post-partition hot and heady mood promoted economic

development.
1) Only a 2) Only b 3) Both anorb 4) Neither a nor b
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Passage (Question number 36 to 40 ) :

Two musicians dwelling in one house gave lessons to pupils on the piano, and the man next door, who
objected to his peace being disturbed in this way, took his revenge by banging on tin cans, and otherwise making
things unpleasant for the musicians. I do not know what the law said on the subject . It may be admitted that the
annoyances were equal in effect, but they were not the same in motive. In the one case, the motive was the
reasonable on earning an honest living; there was no deliberate intention of being offensive to the neighbours. In
the other case the motive was admittedly to make a demonstration against the neighbours. What is to be done in
such circumstances? It is not an offence to play the piano in one's own house even for a living. On the other hand,
itis hard, especially if you don't like music, or perhaps even more if you do, to hear the scales going on, on the piano
next door, all day.

The question of motive does not seem to be relevant. If may neighbour makes noises which render my life
intolerable, it is no answer to say that he makes them for a living and without intending to destroy my peace. He
does destroy my peace and it is no comfort to be assured that he does not mean to. Hazlitt insisted that a man may
play the trombone in his own house all day if he took reasonale measures to limit the annoyance to his nieghbours;
but Hazlitt has probably never lived beside a trombone. I find my argument is leading me to the side of the tin can
gentleman, and I don't want it to do that, for my sympathies are with the musicians. And yet -
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Well. let us avoid a definite conclusion altogether and leave the incident to make us generally a little more
sensitive about the feelings of our neighbours. They cannot expect us never to play the piano; but the amenities of
neighbourliness require that we should mutually avoid being a nuisance to each other as much as we can.

36)  Fill the blank space with the best among the given options :

The probability is strong that the musicians ...........

1) were earning their living by playing the piano.

2) did not know they werre causing discomfort to their neighbour

3) knew they were causing discomfort to their neighbour

4) did not care about annoying their neighbour.

37)  Fill the blank space with the best among the given options :
" or perhaps even more if you do ...." in the last sentence of the first paragraph suggests that ..........

1) the piano is not being played well 2) the piano is being played well

3) it is hard to hear the scales going on 4) one can't sit listening to the piano all day
38)  Which of the following statements is supported by the passage ?

1) Hazlitt liked listening to the trombone 2) Hazlitt did not like listening to the trombone.

3) Hazlitt had little idea about the loudness of the trombone.

4) The annoyance caused by the trombone can be limited.
39)  Fill the blank space with the best among the given options :

The writer is suggesting that ........

1) the musicians were wrong in creating a disturbance for the neighbour

2) the neighbour was wrong in beating the tin can

3) motive is immaterial not the concern ~ 4) we should never do things that incovenience our neighbours.
40)  Fill the blank space with the best among the given alternatives :

"It is no comfort to be assured that he does not mean to " can be re-written as ............

1) It is a comfort to be assured that he means to 2) The assurance does not help

3) The assurnace is not honest 4) Comfort cannot be assured

gRewe (W9 BHHid 89  8Y) :

YT GoaTa A8Y 3 HEA PIci-eriuere] TSATIRET SHedT Hiel ST, 0¢] Fefiet i ISTshic IR

g AERfeTHRId (%98 —9R9¢) AT HleTaelt Jifier JyfFarcra Hel ST, Ufeedl HeREIIRET Had Melerede]
TRATIIC AT YT RO FoaId Sietl. SUYRLT MY fTerclell Savelt ahos] STt ST STREfehcral Plerds o
HTAT 3R Tel ST, H15 o7l SHIIT @ Slat 9d drsis eh g (i, aTeiR] sigel ITell 'S Ue 3iTth Hies
e’ AT MG T 9¢E8 R SMYIhaT AT HebeurdT HaveH IUINT hedrd 2 el S, A1 Hepeurd
TRURYRIT JCelet At dhresrd =Tl JIUI Blct. Teh ORITEAT QIIehIe SMYf-ehaT SR STAAHT ST &l AepeaT Aftiet
Teft, T foreht fafdry ferses) deRTe ST faRgg A, Qo fiie=a i< Ad JMYf-iepdT =urst 3y f~ep JHTT
fehar 3itenfiies TR TR 37T, I IRHd AdTd. (V) 3RY ST S &l A T SSeivd daR
31 3T R, () 3ifeifiies ScdTe 3MfoT SeTRUSHT Sreferawer Iia fis1r SRAuRT JMffes Fweerran Tg Moy
(&) memaﬁwnﬁaﬁwgwﬂﬁaaﬁa Wﬂﬂ%ﬁ@%ﬂ%ﬂ@mw SIS
aifenfies wiclt nfor @ean SiStell yHfdTad e fod= Jiam FHEe T, g| UihaT UTSaThR FRPbMH
TR et SMTfasepel Hrell. MY Hrel graergun e WE&W@‘&T 31T AT - 3ATRRITS
I SRR RN TS YSoAT IO =T s’f%ﬁs’mw INSUr 3T ITATEfIh IRAT Ndd Tosul
fHesTel. aATRdaTal ST JRATEfTeh 3191 YHehel ATeTaT FRPT STHARAH TeTaR ATCHURIET 0T SGerATS!
I ARG B, IRATRfIeh e ISTehi ST HRGpfcres T@TIe HIRATe alepT SyfFeaHiadierea fafdy
HHSTTHT AHR S AN — @A, T, §Y, TSI, BRI I, Ue faRuard s g snfir
fchdls. e 31ef 3T ATEl el AT HebeUT HRAIHT ST Hifgcie TegedT. fdad ol Wa=arReA =R
A fRAT TIH 5T PIGTIRIT Fevrol 3.9, HeTedT QIaehTed] URIT TR qeel™ ST Afecniiel araffaearan
AT BT

8q) Qe P fae™ d 18t ?

q) SMYfTercraT IS TURTET TehTd ST 3R el ST,
Q) MY A Hehedmdt FfiTcht wepifoRaTe QrciepTa Simef).
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3) aTATRIcrD PIETgd el TRCIAT STef-ehcrar UiNaT giel. CRCRETII]
gR) 3t firs=a giea 7 aMYyfTes a1 Hehedmid HaTaT FHIA B ATgt ?

q) fafere AR ?) fafre anfdfes wwen 3) fafore o faRyoelt  ¥) AETTER
83) el fAum Hreseigde argd AT TR fFHasr.

37) T g, PIet AT PIET TR SATfepcielt FET gl

9) AATETAIGHS 3AshI- TS QAT SYfHepcran UReR ST,

9) 37 qRISR MY, § it SRR 31 2)3T TP 3R, T ST I 3R

3) 3 SRR 2R, T I A2 )3T I 3N, T SRR 3R

8g) gIeT QN fAeTRAY Ivr I 31T ?
31) UTfHiep Tl JMEYeh HFeaT ST ATard. ) WD TS TR YD ST T, 3R .
q) ddes 3 ) Pa® g 3) Qe 3y IMfor g ¥) SIal ATEd

gY)  @relietdeh! P faum e o ?

q) 3TSRI-3TTRIITS ST FApeTRIaTGT SMYepcraT 3T9R Bll.

R) FATEIICeT MY e HisTesATEaT TR STl egd.

3) fire=Fe 7 sy ST ¢ suRad-i o arT faaR el ¥) VAT Tehg! ATEl

Passage (Question number 41 to 45) :

It is believed that the beginnings of modernity can be traced to the Fall of Constantinople in 1453. The
period from the French Revolution of 1789 till the First World War (1914-1918) is believed to be of high modernity.
With the First World War, there began the questioning of the settled assumptions about everything. This is
believed to be the beginning of Post-modernity and the gradual waning of modernity; though both of them
continue to coexist uneasily in the world today. Charles Baudelarie is credited for having coined tthe term 'modernity’
in 1984 in his essay 'The Painter of Modern Life' to denote a relationship with the contemporary time characterised
by a rupture with the tradition. Though the term modernity was coined during the high tide of ‘its existence
in the nineteenth century, its various features can be observed from the fifteenth century onwards. Anthony
Giddens has defined modernity as a 'shorthand term for modern society or Industrial Civilisation'. He believes
that it is associated with (1) the idea of the world as open to transformation by human intervention; (2) a complex
of economic institutions, especially industrial production and a market economy; (3) political institutions including
the nation-state and mass democracy. Modernity in Europe involved the spread of capitalism, democracy and
industrial revolution accompanined by a critique of religion. This vry process manifested itself with varying
intensity in the colonies. In the history of Afro-Asian countries whre certain beginnings of modernity were already
visible, imperialism brought about a rupture and directed the course of their history on a different trajectory
of exploitation and the colonial reality. When cultures confronted each other as colonisers and the colonised,
introspection and efforts towards change were inevitable. The political and cultural hegemony of the colonial
power in India brought the Indians face to face with various ideas included in the cluster of modernity - liberty,
equality, fraternity, rationality, rule of law, spirit of enquiry and individualis. This is not to say that these were
completely alien to the Indians. Ideas such as reason and liberty have been a part of the Indian philosophical
and literary discourse at least from the times of Buddha, i.e., the 6™ Century B.C.

41)  Which of the following statements is not true ?

1) Modernity is believed to have orginated in the fifteenth century.

2) The concept of modernity was created in the nineteenth century.

3) Indians were acquaintd with modernity even before the colonial period. 4) None of the above
42)  What according to Anthony Giddens is not included in the comcept of modernity ?

1) Certain ideas 2) Certain economic institutions

3) Certain political ideologies 4) Imperialism
43)  Read the statements given below carefully and choose the correct option.

a) Certain ideas in the literature during the time of Gautam Buddha were congruent with modernity.

b) Afro-Asian countries were introduced to modernity because of colonialism.

1) a and b are correct 2) Both a and ba are incorrect

3) a is correct, b is incorrect 4) a is incorrect, b is correct
44)  Which of the following two statements is/are correct?

a) Religious rituals are not said to be modern.

b) It is not that because of th foreign power India did not modernise.
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1) Only a 2) Only b 3) Both and and b 4) Neither a nor b
45)  Which of the following statements is true ?

1) There was absence of democratic modernity in the Afro-Asiatic countries.

2) Modernity in colonies did not involve spread of capitalism.

3) Giddnes believes that modernity involves the idea that the world cannot change.

4) None of the above

gRRese (U9 HHiH 8E o Yo) :

STTTep et STefiped 9w emead IfER ofT 9] FEAMf ey MR el 3Med. Sfex oM &7 2
TepTfcen ST MWy FawuTd! 3iTed. ST =it Taed Smadh o7 Afedes UIRur BRI |ret oM gt
3TIfT sRIeTh ftreT peft a1Te. Fafeam qul wrIeS! @i & PRGN sieesault RuarET ok Sde ST
T geRraT SITERATHT 3MTOT SaR STRRIERT PRIQ I Hgwd ST el ST dhet M. Wgth IIFRAT Fed
S dar, auf, fomT, 9T, o, IS a SR T, IE fhaT i ST, W, S, e, 3. STt
PIUITET BT T ST AL gehraT NG, ARV SATOT AL PRI TRT AT et FaTc= G ol rared
e IGTAT STEEERIGR TR SUIT ATl 37T

T SR 3MOr e STFaRT 9, 09 URIT ST 3TTelt JMed JMOT geial UeRT ay fofy evarrdt Amige
Fclier. fae: st Smfor snférar Hefter faemamelier Senciter adwmTaeft afor emead anfies gt it eor
ST STTER FRUI TGP ATE. S Al SRFERT A T & RO NI 3MTe. AT Aepraeprd Jfra s
TR A BT T Fd Fel, Jah, e Ach, TR, /TS dT1Ud alid, aa%b, <2t fohaT Weam 180
e, 3ichie et fareenfia anfor wreaRarar T g1ar. 2030 Wid Ad HbRd Sfr fafer aReror srom=ar
SIREIT! e eRuaTl diftreten! 1 Sefdel g, enead e Ifer Herd IRUHM, SURFARIET 37, 37 JRaf
SATE RO, T FTH HTUTT Qg A FhINT PHUINUT ATERT P01 3. ST PRI

RIS ST AFIRTED STRI STIfOT R Haffer evgradt amiflr wafe Srgaie Sarauarre! simav dfegs
3TRI fARTR STfOT TUrETgoT STRIERIILT AT SUCTeUdT dhefl UTfest. 003 T STHPHR, FTereg, ST AT,
I THTOT ST PRUT TR TR, <ifiieh ST gcuTe Fefod TR Ha gfaur Sa1d Pgd o, mifect amfr
freror I THTAY 31T 1M fAgRTd SuSTST ITATS! 2Mead fahrT IER aeiag 3. HellNaT, Td. 3. . /
Tgd, AIdt, QUCIERT, TSTeTT 31 3 Imiory oI 7 sareft Aieanefy cguard Sft widt dear dheft 3t forar am
AEIVITR &l Diod el STRel.

Td ST gesare s aranReft egrdt ST enead fawT IfeEET SeeT MR, TGS HaETaef oy
omead IR fAdmRT 3Maead Mg, SR AU FH fIaRYT S7Tet 9 Iuel fasHdd ARy sdel! o & Sifties A
IS, TEIATIMHI, MRad, Faf-HivRlleT a SFHbfrad ferawer i ST TouT ASHIR AT Afder ffn
AEHIRRUT TR TR ST 3RAeT AT Qi b1 et feot. R Sifdr AR s oRie TR |e 9T BRI
gSe. ATead faer Sferie @ue SRIRGHT & AUMTT Sie SbIdier ATat ST feer Fifeaduer guffaa. ardher
IgI IfER AT PRUIRAIS! ST Al Sferam Soif e JURUIRAIS! SHITCie] Ae QNiHT JHAPUV FIeT chel
TTEoRT.

ge) TN PR AT T8l ?
37) emead faerT Sfer & b faeraieiict IFHT SRY 37Ted.
9) 9omead fIprT Sfewidia Sfeser sravds g amed.
9) Wh 37 Q) Bh & 3) a1 3nfor & Qgig 8) 31 3T & AT PR
g
80) Yl faum damd ggg ar g e
a7) waaHTaet g€t & anfiies gt gdare o,
q) afies wgg & wdwmaeht gt gdsre ot
9) heh 37 SRR 3R, 2) Heh & SRIeR TR,
3) 37 3MfOT § gzl sRIeR 3Med ) 3T 3MOT § St I 3TTed.
8¢)  3N) SOIGR ARFIGAUTTD STIHH GURA.
9) SoIGR SRFIGfAUTE STergegd THTUT He.

) 9Mead fIPRT IfEsc RIS daidg 3Ted.
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) enead fae Sfescrl SIRe Tcavar g JTesiard.

RYAIH PIorh) fFam T smed ?

9) Beh 3T, MMM EH ) Beh 3T, B IMOTS  3) 31, &, P 3N S $) Uch &, &P IMT S
¥R) eie faum e vgg ar gk s

31) AT gep 3MOT SIARRTERT PIIS 7 2Mead fABRIATS! Hewma 31T

9) g g Uade ST T g U QT SEeRT 318,

9) Uh 31 RISR 318 2) Beh § SRISK 318
3) 37 31 § gl RIS 3Med ) 31 3T & Qregl e 3TTed
4o) Teilofteh! iU SIEr SURKh YRESSrT WA AT8ld ?
9) IRFY AfOT 3MER Q) 9} gep 3MOT SNeRRTET PrIg
3) UM FRET fIBRT @ Mg ) ISR 30T At Ferfamor

Passage (Questions number 46 to 50) :

World leaders have recently announced 17 Sustainable Development Goals (SDGs) with 169 associated
targets. The goals and targets are intergrated and indivisible. Global leaders have pledged common action and
endeavour for such a broad and universal policy agenda. They have decided to implement the Agenda for the
full benefit of all. The world has reaffirmed the importance of the Universal Declaration of Human Rights, as
well as other international laws. The emphasis is given on the reponsibility of all states, in conformity with the
Charter of the United Nations, to respect, protect and promote human rights and ensuring fundamental freedom
for all, without distinction of any kind as to race, colour, sex, language, religion, political or other opinion, national
or social origin, property, birth, disability, etc.

The new goals and targets have come into effect on January 1, 2016 and will guide the decisions to be
taken over the next fifteen years. It is necessary to respect the national policy space for inclusive and sustainable
economic growth, in particluar for developing countries from Africa and Asia: People who are vulneable must
be empowered. Those whose needs are reflected in the development agenda include all children, youth, persons
with disabilites, people living with HIV/AIDS, older persons, indigenous peoples, refugees and internally displaced
persons and migrants. The commitment is shown towards ending poverty in all its forms and dimensions by
2030. SDGs ensure the basic standard If living, end of hunger and achieving food security as a matter of high
priority and to end all forms of malnutrition.

To promote physical and mental health and well-being, and to extend life expectancy for all, we must
achieve universal health coverage and availability of quality healthcare. It is essential to reduce new-born, child
and maternal mortality by 2030. SDGs have promised universal acces to sexual and reproductive bealthcare services,
including for family planning, information and education. The focus will be to accelerate the pace of progress
made in fighting malaria, HIV/AIDS, tuberculosis, hepatitis, Ebola and other communicable diseases and epidemics.

SDGs aim at building strong economic foundations for all countries. Inclusive and sustainable economic
growth is essential for prosperity. It will be easy if wealth is distributed equally and income inequality is addressed.
Nations must work to build dynamic, sustainable, innovative and people-centred economies, promoting youth
employment and women's economic empowerment. All countries stand to benefit from having a healthy and
well-educated workforce. The vast agenda of SDGs shows a certain direction of human progress in the next
decade and a half. All the countries in the world must work relentlessly to ensure that most of the goals are
attained and the quality of human life is improed all over the globe.

46)  Which of the following is/are not true ?

a) Sustainable Development Goals (SDGs) are applicable only to the developing countries.

b) Goals under SDG are interrelated.

1) Only a 2) Only b 3) Both a and b 4) Neither a nor b
47)  Consider the following statements and select the proper option :

a) Inclusive growth is a pre-condition of economic prosperity.

b) Economic prosperity is a pre-condition of inclusive growth.

1) Only a is correct 2) Only b is correct
3) Both a and b are correct 4) Both a and b are incorrect
48) a) Quality healthcare improves life expectancy.  b) Quality healthcare reduces child mortality.
¢) SDGs romise healthcare services. d) SDGs aim at reduced poverty.
Which of the above statements are true ?
1) Only a, b and ¢ 2) Only a, c and d 3) a, b, cand d 4) Only b, c and d
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49)

Consider the following statements and select the proper option :
a) Human rights and international laws are important for sustainable development.
b) It is the responsibility of all the states to promote human rights and freedom.

1) Only a is true 2) Only b is true 3) Both a and b are true 4) Both a and b are false
50)  Which of the following pairs is not a part of the above passage ?
1) Health and Nutrition 2) Human rights and International laws
3) Infrastructure development and Incentives. 4) Employment and Women empowernment
49) IRT S Y F 9RRR, IHART HTell. TP dlefea™dTel di Riuc TgRIclT SITdl. J1 dlefeasy Aied R fahdr
UIR SR A fRAIIe UTed T8l ufded Sal drefeaidal fohelt dasT femde uTg 2TepuiR 18t 2
1) 8 )R 3)3 8) &
5I)  Ravi was born on Monday 5th May, 1992. He goes for a movie on his every birthday. However, he does
not go for movie if his birthday come on Tuesday or Wednesday. How many times does he not go for
a movie until his 10th birthday ?
1)4 2)2 3)3 4)6
43) el dTCTTET A e, g il deiel IATed. T T H 3ATe. el STefredt gerlt 31Te. TR ST Brehl
SRAaUIRT T fyae.
q) 3reft Q) I 3) g ¢) ST form ATfea SrIRIet B
52)  Aliis brother of Bala. Kallu is father of Ali. Damu is brother of Nila. Nila is daughter of Bala. then select
the option that indicates Damu's paternal uncle.
1) Al 2) bala 3) Kallu 4) One needs to know Bala's sex
y3) Y1 gefler oTsqrrct ¥ 11 92t @iel bl fQetet 3Tad. IT Ugdian 3T T g fdaRetedr Foaract
fectear g gatarddst T gaf fas.
WY Il
CED ¥
FEIH ¥39&
BEGI 459
CAAJ ocuu
DHEBF Re¥3IR
GYDECG = ?
9) 8¢y ) ycy 3) yc ¥) 48
53) Some code numbes are given in Column Il for the words of Column I. After studying them choose the
correct alternative for the word given.
Column 1 Column I1
CED 248
FEIH 4316
BEGI 5419
CAAJ 0877
DHEBF 96432
Then DECG = ?
1) 2485 2) 2584 3) 2548 4) 5428
yy) HIfTPEAT Y T TIFRIS! eiedT TR diidhepgeea Fdid Sud uferT fasT.

I A & A

) ?) 3) ¥)
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54)

Select the most logically appropriate image from the options given for the 5% place of the series.

N

4 K A Kk

1) 2) 3) 4)

4y)  wett, ST, i, S ST U @ N afmed STIfl O AR, TR, TR, IR MM IR A7 YIS @A, A AT AT
T RTEATT 3R TR, TAHSTUT RTTGT YT I, ST d el ok T8I, STFLd U I g =R g,
Telt @ el 7R, ¥R, T W AR, <% 9 U ¢ IR G B AR,
gelel G gebrar ua iy faer.
q) ST A=A 3R Q) Tt aivell 3 3) forer ot ame 8) T I 3R
55)  Eli, Janu, Mila, Deu and Eku are friends and live in padas Ker, Ter, Ner, Ser and Mer, but not necessarily
in that order. Each one lives in a different pada. Janu and Mila are not from Ter, Janu and Eku are not
from Ker and Ner. Eli and Mila are not from Ner, Ser, and Mer, Deu and Eku are not from Ter and Mer.
Select false statement from options given.
1) janu is from Ser 2) Eli is from Ter 3) Mila is from Ker 4) Deu is from Ner
4g) K IT URIER o ® U 3§ NI 3R 3T Udsh o &l ﬂ?oﬁﬁaﬂwﬂﬁ mu’a’mﬂaaﬁﬁvﬁrw
figteciier 3ier geafter faHIfeie chetedm 360 Vasil W30 JHTed. TN HSIR qaepbs! 3§ TR Rga. K-
T AT :8¢ & I GRIAT 3R TR T g e PIearex=aa $ieT SRIqUINT wRedT fHiasr.
9) 900 Q) A0 3) 990 ¥) Ro
56)  On planet K, and day as a unit consists of 36 hours and each hour is divided into 120 minutes. for persons
on this planet the degrees around a point are 720 instead of 360 that are noted on the earth. The dial
of their clock shows 36 hours. Select the number that indicates the number of degrees between the hour
and minute hands of K-planet clock when time is 9 : 48 ?
1) 100 2)120 3)110 4)90
49)  ga&le Hfed STRIRGT fecte F9ATE SR TgU S G AasT.
% ST 8T Q9T ARINGTT UIegHet a FIaoTeedT §fevler 3.,
s €T 8T Q9T Q7T YIS d Hieiiedl femle 3iTg.
* Waé@réﬁﬂwa@ﬁmamﬁwgﬁma@
% ATIINIT 8T ?}er HTAIET GIEIeTT q a2 GIegH e 38,
& TToA) 8T Q9T HHNo-TET UfoeHetT g f~+eaT SaRetl 3iTE.
% IRISR & Q2T HIcA1T SR0le T dHake-TedT Gfeemiet 37Te.
G&IeTih! PIVIT 9T [AHTT Vel QAT STRAT T Yaotle] 3E 7
9) Pqes Fredt R) HIB TR 3) Trefl g ARISR glel  8) aNioT fawelddh! Uapel el
57)  Study the information given and select the appropriate option as an answer to the question.
*  Benin is to the west of Nigeria and to the south of Niger.
*  Ghana is to the west of Benin and to the south of Mali.
* Cameroon is to the south of Benin and to the east of Mali.
*  Nigeria is to the south of Mali and to the west of Cameroon.
*  Mali is to th west of Cameroon and to the north of Benin.
*  Niger is to the south of Mali and to the west of Cameroon.
Which of the following nations is located in both north and east of at least one another nation?
1) Only Mali 2) Only Niger 3) Both Mali and Niger4) None of the above three
4¢) X & UPT HgIAIeT Hgh e Sile. T FHEIT Sgyliepcdlel] ST Sgulciepcdlet] HT=Idl ATg]. TagHol

TSI a7 ¥ a7 ST U aRAGRILN o R A AT, IT PLAIT BIIATE] @hid Tepraer
3ifére JasT T Fctel gt a Vbl AT [AaTeaTaIqegT STctel igl. 1afder @hidier §e factel Frviaer
ST FHETT [l D & @bl o &Fchl/@chleft o @ 91 o GolauIT gaf (g,
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58)

O T gL, 17 v oft 7 Pt 3ire. ft D Tt 37T H faf FEIT 3718, G E I QI For 3iTed,; Ut M forr
& G T [oRTRrT 318 @ K @ ol E 27 foff s 3ife. 0 g 0t/ ar Sfia=rareft y i+ Q @ R & g gor
3ITET T T GrEre} foifl Y =T el g 3118, O @ fofiT D =7 forTermr 3iTe. E &1/ G a1/t Sarareft
318, P &1 G d D IT I THIT fofift FRTctedT &rchiar faar 3.

9) Beh M a1 Q ) Bh M dl R 3) Bh Q @R §) M @IS 31 pIvit Tgl
X is joint family of some community. In this community polyandry or polygamy is not allowed. Marrying
a sibling or to a direct descendant of self and siblings is forbidden. In this family no person is married
more than once and no child is born out of wedlock. Study the relations between different persons
and choose the opton that indicates person(s) with whom D can marry according to community rules.
O is mother of L, who married to 'V, is sister of D's mother H. G and E have two children; M who is
of the same sex as that of G, and K who is of the same sex as that of E. O and O's spouse Y, have two
children, Q and R, who are of the same sex as that to Y. O is the same sex that of D. E is G's spouse.
P is the father of two children, G and D who are of different sexes.

1) Only M or Q 2) Only M or R 3) Only Q or R 4) No one other than M

4R)

59)

31, § 37IfOT & I+t FTAUI Teb Tehl AP 92, 9Y AT 0 ARART HReA STt febar Repreft 2. Teprar bt
q 3T & TBTAT HERAM Tl FRUIRT TRH el STV 37 T FERAM bl Rt hRudRT Foard bt
TR et T ereht ot sRetea e s/idt 2

9) 9o ) 3) 30 8) 8o

Taps, A, B and C independently fill or empty a tank is 12, 15 and 20 hours respectively. If simultaneously
B and C fill and A empties the tank, in how many hours will the tank be completely filled ?

1)10 2)20 3)30 4)40

&o)

60)

e feoied JMeaetid ... g fiFg *"drar’” A 3TrerdT Hahd 3T, ATGHE ... g favg arel’’ 1 *iferT, ... 8
forg ‘e’ a1 SeRAdY, ... g e el A STeiTdl @ ... g R SW R A1 SRS aTuRel 37T, SR

HfoTehT %o St TR FeAT=g T STt hIvrct JATe A5l ?

IR OB BN B BN BRI w6 P D aialg (BO BB N

5Bl 57

q) s ki 3) SH OIEL

In the following sequence 6 stands for "run', ¢8 stands for "walk', © stands for "sit", \ stands for

"stop” and T stand for "stand up". If the sequence is continued, which instruction will come in place
of the question mark ?

IR OB BN B BN BarBIG o6 P Poialx B D g P

581 57
1) sit 2) walk 3) stand up 4) stop

&)

... 81 URGESD BIIGHET gobel 3MMe ST TeR PIel T ARG ! JMdel Ted. IT BRI JTort
SRIGSIATYHETON T g fSeied Sha™ grdedr. 3ift™ g8HaR foda o/ vty e

ﬁ_ﬂf#rﬁﬂﬂ
J \ q|
RN
forartt wreft /
7]
i

9) Q) 3) 8)

MPSC ITSI%dT qg URI&T : 209€ g& U1 qR-3 / 0



61)  Paper sheet P is transparent and some elements are drawn on it with opaque colours. It is t hen folded
three times as shown by arrows in a given order, Select the option that it would look like after the final
fold.

(\ afgedt wet
e - EJ

\' gl wd

S

N >

- | ™
N 3 | . 4) |
m\‘%\_ ‘«1 SRR

1) 2) 3) 4

&) & IO d Y Afgel IieAT e Y AR Afcl T HRIaT ME. AT 3 909 d R Jigel JRhier areft
Al forclt JepR TR el AeT ?

9) 300 Q) 1Y 3) Mo 8) Qw0

62) A five-member committee is to-be formed from the group comprising of 6 men and 5 women. In how many
different ways can the committee be formed with 3 men and 2 women ?

1)300 2)275 3)250 4)200
§3) uIfeRT=AT TCRITG! aTRetel! TfshaT Hutelt STy et Siehc] TRUATATS! FeRie faer.
Jw
ATNV —> (1) —> VINA—> (2) —> VTMA
| !
® W
CTNV
l
CTMA
DLG—Q—D—[ ]
9) GKL ) KDG 3) GKD ¥) MDK
63)  Study the operation system that is used for group of letters and select the group of letters to fill in the

empty box. Encricled numbers are operators.

JwW

A’I‘N’V—)@ —3»VTNA— @«rVTMA

) J

® ow

!
CTNV

4
CTMA
DLG — (2@ —@—[_]

1) GKL 2)KDG 3) GKD 4) MDK

MPSC ISIRdT qg URI&T : 209§ & TRI& k-3 / 29



£8) Jolol AdIeHe 2l SRIR SRUIRAS] ST 0Kt gl 3ieetiaaet exidell gdl il Siiel SauRT i
[RESH
g+ 3-8x8 +9}=-2N
q) + 3for - ) x 3mfor + 3) - amfor = 8) =+ T +
64)  Select the option that gives appropriate pair of mathematical signs that need to be interchanged to make
the following numerical expresson correct.
44+2-4x 9+12=-22
1) + and - 2) X and =+ 3) - and + 4) = and +
§Y4) Y& G AU g TR QTR STETRA G [5py fQet SiTed. [pyfa Sferd quiT xumT gafy fas.
faer :
9) @AIdIT 3R T Ifardl, SardTpe TNarb! dig Tleld, ~idihe diard! digal el
Q) SRS qIarh! die AIEld ciedibe ik il algt 3led.
A :
1) PTG Mae=arehe aRard!  dirardhl sreft Gl arg=r e,
1) FTE MaH=ane Hh GIarb! g 3iTad.
9) Bk TPy 1 I 3T Q) ek [y 11 G i
3) qive! ey G ST 8) Ul fISpY e gl
65) Below are given two true statements followed by two conclusions based on them.
Choose the option that describes the conclusion(s) appropriately.
Statements :
1) All residents of the village, who do not own four wheelers, do not have two wheelers either.
2) Those who do not have two wheelers have only three wheelers.
Conclusions :
I) No villager has both, the four wheeler and the three wheeler.
II) Some villagers have only two wheelers.
1) Only conclusion I follows 2) Only conclusion II follows
3) Both the conclusions follows 4) None of the conclusions follows
£5)  UeARFErRAT SNt A Wiy .
JEWQR: ? ::_? OYQFR
9) LCYOT, MAOHP ?) LYOQR,MHPSS  3) LCYOQ, PHOXM ¥) LYQR, OYQFR
66)  Choose the correct option to replace the question mark.
JEWQR : ? :: 2 OYQFR
1) LCYOT, MAOHP 2) LYOQR, MHPSS 3)LCYOQ, PHOXM 4)LYOQR, OYQFR
§9) 3,8, Y, &, 9 TR THAR Tk DIUITE! TR 37 Therd AT fhclt IR 3fehl e H¥en qarR giard ?
) 90 ) IR 3) 930 ¥) 980
67) Using any four digits at a time out of 3, 4, 5, 6, 7 only once, how many different numbers can be made?
1)120 2)124 3)130 4) 140
&) AT AT TR STeBTaeiel HRT SREd e, Heieh UiedT Theeiid &l I hiol TRef el SUIE 3Te.

TR ATGRITciicT TOT PlaT & T HiedT TRelHT JATesieeied &Rl SRietel UIRR SRIUIRT TR Fae.

9)9: % )9y 3)9:3 8) 9:2
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68)  Accompanying figure shows area covered by tiles. Area of each white tile is twice the area of black tile.
Then select the option that indicates the ratio of total black area to the area covered by all the white

tiles.

H1:4 2)1:5 3)1:3 4)1:2
&)  shHfdrasciie fardTe et SefaumRT vt faer.

Q,8,3.4, &4, Y.0,R.0, &Y, 9R.Y, .0, 9%, ....

9) 3.4 Q) 8 3) y.0 8) 9.4
69)  Select the option the indicates the number that is odd in the series

2,4,3.5,6.5,5.0,9.0,6.5, 12.5, 8.0, 14, ....

1)3.5 2)4 3)5.0 4)12.5
Vo) YEIaT ATfeicheaT Y T SIFNATST dehgsea 3fud ufer T faer.

1) R) 3) 8)

70)  Select the logically appropriate image for the 5th place for the following series :

f"_"\ TN e "‘\\
Nl DS
. o et o . N
N, N,
-/"H-.\I / N _»’H‘\
| L)
i@é . \'"‘\LIS-:F
P 7/ - Y
W AL
eC eC eC T
q) —= Q) 3) WA g) S
©,) (@) N "
€y Op O ©p/
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71)  Select the logical set of images for the empty places in the following arrangement

NP

Nt DoAY

-ﬁ\ h \‘I I/’ . \_L

N, N

AN (A

{(\i /. \QK’&;’

(e e,
1 (?:?\@ 2) - M‘A @ ”f(;,('@ (\‘7/§

€, @ o) - )

& o
V) TP W AT T W FiETel 3T 30T g BT @Icr{EJﬁT IR ERGIGRIN ElTU§ 3TTed. AT AHH
JaUITEIT AT 3 fohctt Wi Aaciier
a2 q - U e Wbl BTPR 3R T Ul 5[ AT U= ACHICR 3R
q R - AR AT SR &10hes i IR HIex 31T
AT IR SUITSHT ST ded 9 9 2 I Sfud auie awvrar vt s @
q) Qg a2 U e Reft a7ed, Uur PR deF Thdhe R ATE.
R) TP T Thahe IR¥ 3R,
3) Qg T Ui qReft .
8) T T 3fehc IRV 3Tg, TUT T2 QN Uhe IR¥ Tal.
72)  Each play kit is packed in a separate box and these small boxes are again packed in the transport boxes.

How many transport boxes of play kits will fit into the cargo area of the lorry ?
Fact 1 - Each transport box is cubical in shape and one of its sides is 50 centimetres in length.

Fact 2 - Cargo area of the lorry is thirty square metres.
Select the appropriate option that describes the role of facts 1 and 2 with respect to answering the question

asked.
1) Both facts together are sufficient, but neither fact aloen is suffucient.
2) Each fact alone is sufficient. 3) Both fact together are not sufficient.

4) Fact one alone is sufficient, but fact two alone is not sufficient.
V3) Y feicdT SMgaT TR ol Bleal Al id et fvgiF! betedl BT et HRo- T, AT
e fasgeforet srifem e fietea gicmiferdsiicr nerfargrTd! waty faer.

i“%‘/_f
(o]
— — 1 —
| & |- P
Le]
et
| ® |

'HI—*|*-ho|—b'OJ‘—b| ? {
RS | — L

an N N
9) (J} 2 ($6) 3 (5 0

73)  Study the diagram given below and understand the operations done by operators given in small boxes.
On the basis of that encoded meaning select the appropriate option to replace the question mark.
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. |
g\
T,

| T/l
mrm
L9

- 1 _,
i % |—!1*|—)1.|—yl i‘h
"_1 il

L2

[ |

|®:|

Imi—i|-*:-—hlo|—b'o‘l_;i 92
i el Ml g il .
. —_

L <) N
b (86 ) nep

¥8) TP Shicl JoATHIE SRTeied] Fﬁ? QIR PHeS JgRIE! M. Al el AISUIR VI T TaITe]
QAT ST T R ger Areuarean o o1l awom e, WWW@WW?%&%
q o1 YcTell TTfeid. A& 3a o ‘q’ﬁ?‘g o1 ol "g@ﬂa’ dIeg] Tt R Qe lgel. Uehal el aw
- "leIddl U qddedl SHTA H(Silidcbl % BINIRKI SGIICI Sicgl  RIACT QI ool ElT%_\’ ysftal a@
T T Uahel el Riggeh Y@Tal 11 =13, Jefl Uehard et arsdT Aciier.””
hI AT el HHid Bt R Pet dieet gTfgeid SMOT i Ui Qadel wHid AT fadt ot arfeatt
qrfgotd T e fHiaer.
9) 90, 9o Q) L, ¢ 3) 8,0 8) &, 90
74) A person wants to offer lotus flowers to three temples that were around the pond. As he ws about to
pluck the flowers he heard a voice of the pond deity. She announced following conditions for plucking
flowers. "Before going to each temple you should was all the flowers that you have in the pond. Remember
that when you wash flowers in this pond their quantity is doubled. You should offer eugal number of
flowers to each deity without wasting any flower. There should not be any flower left with you when
you leave the last temple. You are allowed to pluck flowers only once."
Select the minimum number of flowers the person should pluck to begin with and the minimum number
flowers that he offers to each deity.
1) 10, 10 2)7,8 3)4,7 4)6,10
v) fIEE
T4 freres glaed M.
T4 Slacs Soll-aR 3Ted.
T4 getiterd faemeff ammea.
SR et | fIU™ T Sred Yeleridh! Hiordr/d Fsmd 9 sed 2
[y :
. et foemeff freres armed. 11. 9 graey faemeff amga.
111 TEt SSffard Rreres ammea. 1V. 94 Siacd frere aimed.
9) Tch Ry 1 9 Q) Beh SRS 19 3) sy [ fhar 11 I 8) IV aTesall d sy ST
75)  Statement :

All teachers are doctors.

All doctors are engineers.

All engineers are students.

If all above statements are true then which of the following conclusion is/are true ?
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Conclusions :

I Some students are teachers. II. All doctors are students.

II. Some enginers are teachers. IV. All doctors are teacher.s

1) Only conclusion I follows 2) Only conclusion II follows

3) Either conclusion I or II follows 4) Except IV, all the conclusions follow

9&)

76)

fRofaeraar anfor sRAvmenRa we (M9 $HiD Vg I ¢o) :

Tre! Riegn iR RIS JreaTehs fRIa0T genTedl BIIETIAR el el @ISRIT 2MTesd SRIeT
Peled] AP TCThg TR 3MMell M. g Ul IfeUwd, Sferd d TRIg Pardial Med. ST LT
AT AT AT HaeT fEetell SRIaT a9t 5ok ol T BodTd, IR & g Jel emesd Sufed
BRI TR T, T,

9) UTeTeIT AT HeT =T ARDBRT 2MMedc SRt PRUITE! faeit eTed.

R) BRARIATRIUT Heeh DRIATE! BRIAT A2 SMMeT REATIATET faIeiel! BRI

3) W@T I AT TATRITS! PRI ST ot T TehHehra famTeret TR TR ATERA

¥) 31— Qwﬁaﬂaﬁwn&ﬁﬁawmmﬁmﬁmwwﬁwgﬁww
BT F fAFTIC TaHasran 31eR fahRid el 7ed e

You are district collector and receive a complaint under the RTE Act from a group of parents who admitted

their children to a private school. These parents are from minorities, dalits and poor families. Though

the school management admitted these children to their school, other children are bullying them constantly.

As a result these young children are not ready to attend the school. You will,

1) request the parents to put their children in a government school.

2) request a school management to take stern action against the bullies.

3) during your spare time organise worjshops for school children to assist them to respect each other
unconditionally.

4) organise workshops for teachers and parents for helping them to understand the importance of RTE
Act with the help of NGOs and develop unconditional respect towards each other.

Vo)

7

g faRrea geid grat i AT f3enruft 12Ut el HevarITS! STl I8N, Heehd SR Jaletl
aIcd T RIS AT TaHT HeeTed evTaRATel ATRT . FaRdl STT8 oTeT e, S5 for &
AT R T JFRelcdl 31 ] e Te. &l AT Je REAIRET TR TTered] aiaRET R
3TTR. TR SMedeT ST AT ST JreTel] LAMeSeT MeaTay Hel Hel sictel! fweft. IR W Wi cTe!
Tact! gidit @ STRIURT DIufiel Tegd. et PHeATaR Jralel oKl i off T Qe Hel 3RT df e
UTeTehd! T BR1 B9 SITUAATS! aTc UTed 3TTedl. <t el SFaATIRaT QI foas 3TTed. &l el ofeiies SRiciedT
PRG AN SR AT Herl TN Hed dHRudTd! fawclt audTd UTeH Tal. gre fif waa:2
eI ShTeeTt SRICAT GraTell AT JeliHT et FefiareR Arvardt ST SMaRTT @R STex gsuar! famdt
R M. T
q) TR AT 3T Hefrelt dlesstt SUaTeht AT foicd Ter ST Fad:af a FA=Tel dqy = o qwooren
TSI HTEHIC el Il Schi=T Sletig AT Bl HUT I7audTd YelpR BI-Iell ARG Ie.
R) fraTeaT AR DIUATE! FHUTd TaT ISs T TV A=A SIeidd i1 3T Jelrd! G2 ITgvaR i
3) JreTel G TG el SR Jral Madhiet dieid d T 3Maedd I AIugy qelT 3
QUITE gt o 8 geHT kAo STt
8) MBI ANIGE P I Ad Qe HHATAAT JelTd UTetds T B SITeudd R Sicsoit
HUITATS! IR AT o] QI eTaTed.
You are visiting a friend who is living in the remote rural place during a five-day vacation. While taking
a stroll you came across a residential ashram school managed by the MLA of the area. Your friend is
an employee of some other institution headed by the same MLA. School is away from the main road
and from the village dwellings. You go to the school premises and find that six children are sitting in
the verandah, all other rooms are locked and no one is around. On inquiry you find that they are students
of the school and are waiting for their parents to take them home. They are there without food for two
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days. They are from Korku trible that is docile by nature, and lacks courage to visit villagers and request

for help. Your friend requests you to leave the children to their fate and leave the premises immediately

as he is worried about his job. You would.

1) call and request all villagers to take care of these children and guide a group of young persons from
the village to take initiative for inviting some media persons to make a story of the situation without
involving you and your friend.

2) collect villagers, request them to see the plight of the children and help them with food till their parents
come to take them to avoid any trouble relating to employment of your friend.

3) talk to the villagers and request them to give food by giving them needed amount and forget the
incident as you want to enjoy your vacation.

4) guide the villagers to pressurise all school persons to join their duties immediately for taking care
of the children till their parents take them home.

v¢)

78)

UGRITR STRIRIHHTC TSl UITRITS! SRl SAUTORISeT el STeTT STIEI. STRIRTHHTST ST SFSIGRTe]

el OMTR 9 : Y€ L. Tl HaeT fiader areft =it amen .

e anTfelter uRie forfeom=an aret fremeai=t @i SavAmiaT STaeie hedne Uhed Tearge qidaieeft

aTS ITTRIGT oA dhell. Pral [t a1 faemeaifag favg TR el ST ey TR didmeft

FRUITRATS! 3TTel AR, TreTell SR fIfRUaTe ThRIdT |10t Hivr ST 37Te. et

9) TRYET TRTETER STt ST 7itres ST STaTeifoRena oY aTet STfr SraveuTer URiel 35 d=ugrd! fawclt
PRt

Q) 9N BUIRATAT TR ST el 3rfr faemeatwar sereil) auravt euamr o et

3) IRAWITA fcfeiedn Teren femeafar foy axum= feneaia aie e@rd, uxern foffgor Uigare snfr eriadn
gl SIAUITAT AT ganTdl! HIUT SRTa.

%) Thth ¥av JgTel UURER TehTidT SATeTe MTfoT diepeft qut gioamardt eriarat.

You are appearing for a competitive examination, for admitting students to post-graduate course. The

ratio of seats to that of applicants is 1 : 256. You have high hopes of getting selected.

1) leave the examination hall and protest against noise and cheating and request the management to
cancel the examination.

2) request the investigator to do inquiry outside the examination hall and interrogate students for cheating.

3) join the students who started protesting against the group that was engaged in unfair means and
stop writing examination and demand for your right to have silence.

4) just remain calm, concentrate on reading the paper and wait for the completion of interrogation.

©R)

79)

T AFIKITET cile TRl d GRURT ATaRdIel &4t g gl SquUIRSUIic] ~A-TeraTed] ATeel grer P

AR AT ch! =g el

9) PRIED IGEF PRUMAT Dol Afec! THUT DHHI ARG BHRIIS! IRfcied] DRI derdad
Nglel.

Q) TR AT SHEH PHRUIIT b ORIUTT TshR SRIA Rl glel.

3) SiegT alepredt Terft v et feder degT FNUTHe &l SRieledl SR FHeiaTac Hadl faaRd
PhRd Yglel.

8) el g qRecTd RIhATThG taT d gaT YSuUT greaneft RIS SR THRRATEE STRodh EITRITS]
AT HE DRIYAT FdIc hrIe.

In your area people are not caring for court orders related to noise pollution or air pollution under the

pretext of culture and traditions. As a lay person you will.

1) keep on informing authorities that are in charge of minimizing pollution, about the violation of court
orders.

2) keep on filing complaints against perrons violating court orders.

3) keep on spreading messages related with health problems because of pollution whenever you get
a chance to meet group of people.

4) start assisting people in general to become aware of health problems related to noise and air pollution

through virtual and real events.
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¢o) T Ul AT IS g HAMUS FUL B PRAT IMEI. ral IR Pheled] AR SMUR HIG

80)

i T foeiedT e el Tt HenY HdhedTd S R PR JTEd STET. AT HehedT e
SERERATET 3T BiTS HAUD T SIFCIC USHNTS! DI SRl AT, Wﬁﬂ%ﬁfﬁ?ﬂ@@%ﬁﬁﬁ
fieqy amet areft Amft aRa ame. Tt forf ARTOR Ut dheft ATE R FreTen fiier BT SETvIRATe]
TR TR eh! fo feeteft o

q) 1 faenfeiierg BRI B CIEUITIS! dTel Afg=iid IoT e,

R) I FRITEd aRkeielt a wewraieht Tat we a1 fenRiHieed Sugd HrRiaTE! .

3) fenfRiien gH=aT ATIGLiPBRRIER B PRUATH! & foeaT S TAR Ued! fefiuar famd! ae.

g) a1 fenfiien foram delem wrRI e FHSIIe @ o Yo7 HRuIrTe ¥R ERIIe Fed QUIre! forea

*H‘jﬁﬁ?l"iltl“l IRIT PNTel.

You are working as a teacher and researcher in one institute. You are heading a research project that

is funded by a large industrial group on the basis of your proposal. Many junior researchers are working

under you for their doctoral degrees in this project. One female researcher asks you to help her get

the degree. She threatens to put you behind bars under the pretext of sexual harassment if you don't

fulfil her demand. You will.

1) go on leave for few months to avoid harassment from this student.

2) discuss the matter with seniors and colleagues and then take viable action against this student.

3) request the student to work with another guide and get a degree as per her wish.

4) arrange for counselling of this students for helping her to understand the importance of her research
work and have the patience needed to get it done.
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